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Why R in Big Data?
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Installation of R and Rstudio

* hitp://www.r-project.org

@ RGui (64-bit
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R version 3.3.1 (2016-06-21) -- "Bug in Your Hair"

Copyright (C) 2016 The R Foundation for Statistical Cc
Platform: x86_ 64-w64-mingw32/x64 (64-bit)
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Text Mining with R (Twitter)

#R=Twitter mining with R

1install.packages("twitteR"); require(twitteR)
install.packages("RCurl"); require(RCurl)
install.packages("ROAuth"); library(ROAuth)
install.packages("base64enc"); library(base64enc)

#Generating twitter Apps Key (https://apps.iwitter.com ) with your Twitter account

consumerKey <- "WvcnfbfW5H]EICSAUaglFwE6I"

consumerSecret <-"SljddS5p0dI6Pb6U05GYIJOrfyYhO0C97neuvLYhZtau58NYmWA'"

accesstoken <- "54046261-SDH8eu34JoW0JQFbXeamr90g9gelvatTq3diBrZOF"

accesstokensecret <- "hpJdTZKH5g1 Tykk6tv7cvCVjdvQ40PxjkgKg4Oph5P12B"
setup_twitter_oauth(consumerKey, consumerSecret, accesstoken, accesstokensecret)

#Search keyword in Twitter

Search.tweets <- searchTwitter("2!5[0|E{",n=100, lang="ko",since ="2016-06-13",until="2016-07-12")
Search.tweets

save(file="Search.tweets.csv", Search.tweets) #save data
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#install.packages("ggmap"); #install.packages("ggplot2")

library(ggplot2); library(ggmap)

crop_korea <- read.csv("A| =2 _s2t= ZtHE_CO|0|E|.csv", header=T);names(crop_korea)

korea <- get_map("south-korea", zoom=7, maptype = "watercolor")

korea_map <- ggmap(korea)

korea_map <- korea_map + geom_jitter( data=crop_korea, aes(x=x, y=y, size = total/1000,color=sid0)) + scale_size(name="Total")

korea_map + geom_text(data=crop_korea, aes(x = x, y =y, label=sido),size=3,col="black")+ geom_text(data=crop_korea, aes(x =y, y =
y-0.1, label=total/1000),size=3,col="black")

#maptype=c("terrain”, "terrain-background”, "satellite",

# "roadmap"”, "hybrid", "toner”, "watercolor”, "terrain-labels”, "terrain-lines”,
# "toner-2010", "toner-2011", "toner-background”, "toner-hybrid",

# "toner-labels”, "toner-lines"”, "toner-lite"),




SAS and R http://sas-and-r.blogspot.kr

 Monte-Hall show

data mh;
doi=1to 100000;
prize = rand("TABLE",.333,.333); *&&HS;
initial_guess = rand("TABLE",.333,.333); *X =;
if initial_guess eq prize then do;
new_guess = initial_guess;
do until (new_guess ne initial_guess);
new_guess = rand("TABLE",.333,.333);
end; end,
if initial_guess ne prize then new_guess = prize;
output;

end;

data mh2;
set mh;
win_by_keep = (initial_guess eq prize);
win_by_switch = (new_guess eq prize);

run;

proc means data = mh2 mean;
var win_by_keep win_by_switch;

run;

The MEANS Procedure

Variable Mean

win_by_keep  0.3331200
win_by_switch 0.6668800
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numsim = 100000
doors =1:3
opendoor = function(x) {

if (x[1]==x([2])

return(sample(doors[-c(x[1])], 1))

else return(doors[-c(x[1],x[2])])
Y
swapdoor = function(x) { return(doors[-c(x[1], x[2])]) }
winner = sample(doors, numsim, replace=TRUE)
choice = sample(doors, numsim, replace=TRUE)
open = apply(cbind(winner, choice), 1, opendoor)
newchoice = apply(cbind(open, choice), 1, swapdoor)

sum(winner==choice)/numsim
sum(winner==newchoice)/numsim

> sum(winner==choice)/numsim
[1] 0.3323

> sum(winner==newchoice) /numsim
[1] 0.6677




Micro Data Integrated Service htips://mdis.kostat.go.kr
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MDIS in SAS

extr_wolfpack92_20160713_76467_2014.sas

data WORK.MDIS :
%let _EFIERR_ = 0, /* set the ERROR detection macro variable */
infile 'Z:#W4WolfpackWextr_wolfpack92_20160713_76467_2014 txt

format C1 $2. ;

format C2 $5. ;

format C3 $2. ;

Crecsil MDISsas data

1

format C6 $1. ;

fmvimmmL 7 B !

Explorer

Al (228 Z(key) ( I2HZ | G2 B(EE . EQRE 2RY)| 2.
1 1 1 1 3
2 1 1 1 4
3 12 1 1 3
4 12 1 1 4
5 12 2 1 3
B 12 2 1 4
7 3 1 1 5

data mdisO;

set mdis;

time1=sum(of c135-c137); time2=sum(of c140-c147);
time3=sum(of c148-c150);time4=sum(of c151-c155);
time5=sum(of c157-c164);time6=sum(of c165-c172);
run;

proc means data=mdisO noprint nway;
class ¢19 c17; var time1-time6;
output out=outO0 mean=;

run;

PROC EXPORT DATA=mdis0O
OUTFILE="Z:\dWolfpack\mdis.csv" DBMS=csv
REPLACE;

RUN;




Corresponding Analysis in R

4 TA ECERNES! £ ~Zzx= 7% #install.packages("ca")

gt 38.00047 147.7393 7.039494 4.041074 40.53081 58.94629

7} 50.55372 143.4707 16.46469 4.212696 28.40341 33.09838

o] 49.07827 119.1426 7.592688 7.649331 27.01596 78.37539 Sai=read_csv("2014Lﬂ 7—9—E-| Aljl_l-aoh_"'o:'E JT'Lil'.LELCSV")

71E 40.29193 145.7963 12.68571 3.016149 36.99503 28.95528 _ - -

|APE 65.57692 225.2592 23.15217 1.153846 36.65552 49.0301 names(sai); attach(sai)

o] Z 43.45188 153.8703 10.64854 1.820084 34.93724 37.40586 , , ,

|5 18.88204 114.868 7.661385 7.755282 2580399 79.79754 | Ma_Sai=as.matrix(sail,-1])

Fd 38.9226 125.9768 11.57641 3.702864 32.3873 28.14148 rownames(ma_sai)=sai[,1]

| 54.99682 222.2605 17.99746 1.172918 46.68786 45.63255 . .

Ar= 48.9195 154.4704 13.38738 3.006747 33.00006 51.25339 | tab_sai=as.table(ma_sai)

FAE 35.07241 122.4909 9.757422 4.580014 33.31282 29.64881

IAE 35.74405 120.4067 5.684524 4.236111 45.36706 27.62897 _

| AEF 41.68929 101.6742 14.66063 5.558069 31.51584 23.44646 library(ca)

=% 9 Ec 43.6674 136.8007 6.547357 1.261013 26.21145 32.60463 : ,

7152 33.80518 1159361 5.342466 3.576865 28.58447 37.01674 | It<-ca(tab_sai)

A+E-Z] 36.07764 121.6064 8.52075 5.461847 32.06827 24.58501 print(fit)

Mu] A 5 3 41.24856 101.8585 8.636364 4.447641 24.17146 27.65247 _

|z 53.46761 195.0121 18.10526 4.378543 4462955 57.2834 | summary(fit)
plot(fit)
plot(fit,mass=TRUE,contrib="absolute",map=

"rowgreen",arrows=c(FALSE, TRUE))
BHCITHET SAED FNEDS 12
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Clustering Analysis in R

install.packages("ggplot2")
ds=read.csv("20143_A|Zt2FE T _O[O|E.csv",header=TRUE)
library(ggplot2)

pca <-prcomp(ds[,8:13], retx=T, scale.=T) # scaled pca [exclude species col]
scores <- pca$x[,1:4] # scores for first three PC's
print(pca)
# k-means clustering [assume 4 clusters]
km <- kmeans(scores, centers=4, nstart=5)
ggdata <- data.frame(scores, Cluster=km$cluster)
ggplot(ggdata) +
geom_point(aes(x=PC1, y=PC2, color=factor(Cluster)), size=5, shape=4) +
stat_ellipse(aes(x=PC1,y=PC2 fill=factor(Cluster)),
geom="polygon", level=0.95, alpha=0.2) +
guides(color=guide_legend("Cluster"),fill=guide_legend("Cluster"))

A B & D E F G H I
1 (8978 AE EAaad dEY A= e ZARE 3A o] o]
2 |1.85d 2. 494} 1.7 & 2. 3¢ 3. 2AE 4. APRF  1.2014¢ 50
3 |1.EY 2. 97 1.7 2. 3¢ 3. 2AE 4. ARF  1.2014¢ 70
4 1.4 2. oA} 2. 71 2. 24 1. A% 6. %3 1. 2014¢ 30
5 |1.284 2.9 2.7]1% 2. 24 1. A2 6. 537 1. 2014 90
6 [1.5Y 1. g4} 2.71% 2. 243 3.145 1.7AEF 1.2014¢ 30

OO O OO
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60
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Decision Tree

library(MASS) ; library(tree) > summary(ir.fit)
data(iris); table(iris$Species) Classification tree:
v fit— : ~ iri tree(formula = Species ~ ., data = iris)
|r.f|t_tree($p_e0|e.s. ., Iris) variables actually used in tree construction:
summary(ir.fit); ir.fit [1] "petal.Length” "Petal.width"” "sepal.Length”

T T _ Number of terminal nodes: 6
plot(ir.fit); text(ir.fit, all = T) Residual mean deviance: 0.1253 = 18.05 / 144
ir.fit2 = prune_misc|ass(ir_fit,best=4) Misclassification error rate: 0.02667 = 4 / 150
plot(ir.fit2); text(ir.fit2, all = T)

> ir.fit

node), split, n, deviance, yval, (yprob)
* denotes terminal node

1) root 150 329.600 setosa ( 0.33333 0.33333 0.33333 )

2) Petal.Length < 2.45 50 0.000 setosa ( 1.00000 0.00000 0.00000 ) *

3) Petal.Length > 2.45 100 138.600 versicolor ( 0.00000 0.50000 0.50000 )
6) Petal.width < 1.75 54 33.320 versicolor ( 0.00000 0.90741 0.09259 )

12) petal.Length < 4.95 48 9.721 versicolor ( 0.00000 0.97917 0.02083 )
24) sepal.Length < 5.15 5 5.004 versicolor ( 0.00000 0.80000 0.20000 ) *
25) Sepal.Length > 5.15 43 0.000 versicolor ( 0.00000 1.00000 0.00000 ) *

13) pPetal.Length > 4.95 6 7.638 virginica ( 0.00000 0.33333 0.66667 ) *

7) pPetal.width > 1.75 46 9.635 virginica ( 0.00000 0.02174 0.97826 )
14) pPetal.Length < 4.95 6 5.407 virginica ( 0.00000 0.16667 0.83333 ) *
15) pPetal.Length > 4.95 40 0.000 virginica ( 0.00000 0.00000 1.00000 ) *

SHSt o HME D4 16



Petal.Length < 2.45 Petal Length < 2 45

sethsa setbsa
PetaI.Wiglth <1.75
PetaI.WicIth - 175 setosa versicolor
setosa versicolor
Petal Length < 4.95
| versicolor | virginica
Petal.Length < 4 95 Petal. Length < 4 .95 versicolor virginica
Sepal Lerigth <veiEicolor | virginicAr9iNiG@rginica

versicHBFSICQ@Fsicolor  Virginica




Sampling in R

library(sampling)

names(ds)
mytable=table(ds$R2LE& 1 =,ds$25)5
prop.table(mytable)

s=strata(ds,c("QE€H=","25"),size=c(43,12,5,14,5,5,14,5,5),method="srswor")

write.csv(s,"sampling.csv")

1 897E £5 ID_unit  Prob Stratum
2 2238 1.349 3. 314% 2238 0.017325 1
3 2615 1. 89 3. 24% 2615 0.017325 1
2 7051 1. B4 3. Z&F 7051 0.017325 1
50 7099 1.9 3. 34T 7099 0.017325 1
6 8003 1.9Y 3. 145 8003 0.017325 1
7 11159 1. 89 3. 314% 11159 0.017325 1
8 11491 1. 89 3. 14% 11491 0.017325 1
0 127292 1 FHO 2 A= 12722 NN1TI95 1




